DADE' MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901  FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com

C.P. Loewen Enterprises
77T P.T.H. 52 West, Box 2260
Steinbach, MB R5G 1B2

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Aluminum Clad Wood Sliding Doors

APPROVAL DOCUMENT: Drawing No 1381, titled “Aluminum Clad Wood Imp. Sliding French Patio Door”
Sheets 1 through 7 of 7, dated 3/15/05 , prepared by manufacturer, signed and sealed by Warren W. Schaefer, P.E.,
bearing the Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number and
approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer’s name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence pages E-1, as well as approval document mentioned above.

The submitted documentation was reviewed by Jaime D. Gascon, P.E.

A .Gpse NOA No 06-0615.02

Rlie ol Expiration Date: August 31, 2011
Approval Date: August 31, 2006
Page 1




C.P. Loewen Enterprises

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No 1381, titled “Aluminum Clad Wood Imp. Sliding French Patio Door”
Sheets 1 through 7 of 7, dated 3/15/05, prepared by manufacturer, signed and sealed
by Warren W. Schaefer, P.E.

B. TESTS
1 1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of a clad wood impact sliding
french patio door, prepared by ETC Laboratories, Test Report No. ETC-05-959-
16697.0, dated 03/22/06, signed and sealed by Joseph Labora Doldan, P. E.

C. CALCULATIONS
1. Anchor calculation and structural analysis prepared by C.P. Loewen Enterprises, dated
06/13/06, signed and sealed by Warren W. Schaefer P. E.
Complies with ASTM E-1300-02

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 03-0417.01, issued to Cardinal LG., for “Laminated Glass
Cardinal Sea-Storm Type B”, expiring 12-30-07.
2. Notice of Acceptance No.01-1204.01, issued to E.I. DuPont DeNemours, for “Sentry
Glass Plus”, expiring 01-14-07.

F. STATEMENTS

1. Anchor verification, compliance letter dated June 14, 2006, issued by Warren W.
Schaefer, P. E.
2. Statement letter of conformance and “no financial interest”, dated June 14, 2006,

signed and sealed by Warren W. Schaefer, P.E.

G. OTHER
1. Letter from consultant, dated 07/26/06, stating that the product is in compliance with
the Florida Building Code (FBC).

U/ " Jaime D. Gasvon, P.E.
Chief, Product control Division

NOA No 06-0615.02

Expiration Date: August 31, 2011
Approval Date: August 31, 2006



{ T[orawN BY: CHECV:<VEVDS BY:
" —_ PS. WS.
SEE CORNER 94 1/2" MAX. FRAME WIDTH (F.W.) (S:gisprgsrg%%,q le— 49 3/16" MAX. FRAME WIDTH (F.W.) PLO::” DATE/: -
CONE’TRUCT'ON 18” MAX 18” MAX 1=18 3/1
(ON SHEET 2 _XN\ Al ~ Coc ON SHEET 2 L~ — oc T N
\ 7 T 5" MAX \ 7 6" MAX.
Nl : / : Nl- _ . —f— &
/) | \WP. SHEAR SCREW / TYP. .SHEAR SCREW AS 3
/a SHOWN. SEE "FRAME £
WHERE SHOWN. SEE a
M : ANCHOR REQUIREMENTS S
FRAME ANCHOR 4 a
» TABLE™ ON THIS SHEET a
REQUIREMENTS TABLE
o/ FOR SCREW z
ON THIS SHEET FOR REQUIREMENTS a
SCREW REQUIREMENTS. OPPOSITE : 2
E1
P ® e L& o~ |
= T T & = |
Lo ~ o
E 4 >< O NOTE: SIDE JAMB ANCHOR 3 O
2 SPACING MAY BE 16 1/2" O.C. oo o
T z & MEETING STILE END ANCHORS - <§( mg‘—
W = MAY BE A QUANTITY OF 4 WHEN | 4 ° IS
£ o REQUIRED DESIGN PRESSURE IS | £ ‘o Nt
S 59 PSF OR LESS. E Lo <@
e) 0 oo
x 2 —— X - x| E-23
= w f = R f § G593
= 2 = =
» o~ M
\c:\ 14 1/2" > 14 1/2” o %gg;
< MAX. 0.C. <+ MAX. 0.C. al| o= I"C\)‘
< 38 7/8" 38 7/8" (SEE NOTE) < _ 387/8" (SEE NOTE) al 53
MAX. D.L.O. chasa)
MAX. D.L.O. MAX. D.L.O. | | § 5O~ 2
=) =
/ Sk ©
Y 4 Yz =E
v | % g
o =
o]
=1l o g
z + ¥
| L AERE.
6" MAX. - 6" MAX. o %( 35’):‘:
' : SR = ¥ : f i y T ? =| ™38
= - P
q 4 Z | Wggéc
6 MAX. = 6" MAX. —f=——-| S| «Z 85,
3" : EXTERIOR ELEVATION 3 Ef,‘ ‘2%%
EXTERIOR ELEVATIQN SINGLE FIXED PANEL DQOOR ¥ %% ggé
2_EAREL_SLIDING DOOK FRAME ANCHOR REQUIREMENTS TABLE (SHEAR SCREW MOUNT CONDITION) = |£R° =2
(SHEAR SCREW MOUNT CONDITION) T SCALE: 3/4"=1" 0" o |5p%33t
NOTES SCALE: 3/4"=1" 0" ‘ = |27 3
GENERAL_NOTE OPENING TYPE JAMB_TO OPENING mnivuM | MiNivuM | | ALLOWABLE DESIGN PRESSURE g 8= &
1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED FOR DESIGN .
PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN LOADS" TABLE(S). (SUBSTRATE) FASTENER TYPE EMBED |EDGE DIST. +/-70 PSF .
2. BUCKING, OPENINGS & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & " » " !
iNSTALLED TO TRANSFER WiND LGADS TO THE STRUCTURE. 2X_ WOOD FRAME OR BUCK| NO. 8 X 1 1/2" SMS SCREWS | 1 3/8 1/2 : 2
3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & MAY SHEAR SCREWS z &=
NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. - - - Q| «w W
4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN' REPRESENT THE PRODUCTS TESTED & 2X_ _WOOD FRAME OR BUCK NO. 10 SMS SCREW 1 1/4 3/4 g e
PROPOSED FOR WATER, AIR, IMPACT, CYCLIC & UNIFORM STATIC AR PRESSURE TESTING CMU,/CONCRETE ™ 1 /4" CONCRETE SCREW 1 1/4 > S 39
IN CONFORMANCE WITH THE 2004 FLORIDA BUILDING CODE PROTOCOLS TAS-201, 202 & = .
203 FOR LARGE MISSILE IMPACT DOORS. (1) CONCRETE SCREWS SHALL BE ELCO OR ITW RAMSET/RED HEAD TAPCONS, E =\ EN
5. THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH THE 2004 FLORIDA HILTI KWIK—-CON Il OR POWERS RAWL TAPPER (HARDENED STEEL OR S.S.). ol 7™ e
BUILDING CODE (FBC) INCLUDING HIGH VELOCITY HURRICANE ZONES (HVHZ). = €
6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE DOORS. = £
7. ALL ANCHORS SHALL BE INSTALLED AS SPECIFIED ON THESE DRAWINGS. SPECIFIED =
EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO. TR v
8. ALL FRAME ANCHORS SECURING WINDOW/DOOR FRAME TO PRESSURE TREATED BUCKS OR WOOD FRAMING 1381
SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE WOOD.
9. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT WITH OTHER SHEET NO.
DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF 2004 FLORIDA BUILDING CODE SECTION 2003.8.4. 1 o 7




T 94 1/2" MAX. FRAME WIDTH (F.W.) SEE CORNER— |=—— 49 3/16" MAX. FRAME WIDTH (F.W.) —] |
CONSTRUCTION CONSTRUCTION [PLoT: DATE:
| ON THIS SHEET | | A2 @9 (B2 o A o HS SHEET /B ) N
i : 4 [ ‘ ~< Z G
\ [ v /\l T v 0 0 N - ,flg - I[, g v 0 ) g \ 0 \/ v ‘. . 0 0 0 \\ 0 . g
|55 * ’ . o
Nal s / \ \-_// \\ 5
m
/ 1 |z 1
% / TYP. FIN SCREW AS SHOWN&/ A \// :
WITHIN 2" OF CORNERS & : : TYP. FIN SCREW AS SHOWN : &
ADD 2 ADDITIONAL FIN 6 1/2" MAX. O.C. SEE WITHIN 2" OF CORNERS & 2
SCREWS AT MEETING STILE "FRAME ANCHOR 1/2" MAX. 0.C. SEE S
END LOCATION REQUIREMENTS TABLE” ON “FRAME ANCHOR 5
SHEET 1 FOR SCREW REQUIREMENTS TABLE™ ON 2
BN o REQUIREMENTS. BN SHEET 1 FOR SCREW =
A, < &, < & - = REQUIREMENTS. 3
- o . . b . OPPOSITE X
. O - S & (2
o o s o &[] |V &/ v
= X 2oy : ' i
w = < 8r—
s w = (7~
z %o % a8
£ < 6 1/2" MAX. r 2 6 1/2" MAX. EZx®
% 2 — - — 0.C. (SIDES o D — 0C. (SDES f| v | ERST
< 5 & HEAD) EN & HED) |G| EFZS
5 N ~ (o] WS w0
~ ‘~ a == r('\lj
— ~ <) Yo
iy <~ Z Emﬁg
1” D -
38 7/8 38 7/8" ‘ . < . 38 7/8" 5| 2EET
MAX. D.LO. MAX. D.L.O. MAX. D.LO. e
. B EONZ
‘ : <5 "~y
) % s
a : - % - E
o 2]
= ] &
o| 2 )
1 - _ _ 3| . 3%
| : L = - = = < Z3 e
6" MAX. f—-] < WW ¢ !__18" MAX. ™ - - 4 18" X, 2 %% i
3" TYP. SHEAR SCREW AS 67 MAX. !— z | g5 &5,
! | S 259
EXTERIOR ELEVATION SHOWN AT SILL. - SEE EXTERIOR ELEVATION bl 2| Gz i)
ANEL SLIDING DOOR REQUIREMENTS TABLE” SINGLE FIXED PANEL DOOR ATSILL SEE [ |¢g@3 BT
(FIN MOUNT CONDITION) ON SHEET 1 FOR (FIN. MOUNT CONDITION) "FRAME ANCHOR  fl, |5 . g 939
SCALE: 3/4"=1" 0" SCREW REQUIREMENTS. SCALE: 3/4"= REQUIREMENTS e B=VEdy
TABLE” ON SHEET [E &% o
CORNER CONSTRUCTION: ! FOR SCREW
— REQUIREMENTS. u
PANEL_TOP: WOOD MEMBERS ARE JOINED BY TWO (2) FULLY GLUED 85/8” X 5 WGOD DOWELS. ©
PANEL BOTTOM: WOOD MEMBERS ARE JOINED BY THREE (3) FULLY GLUED #5/8" X 5" WOOD DOWELS AND ONE (1) #5/8" X 3 3/8" WOOD DOWEL. = 3
. E g3
PANEL CLAD: THE SASH CLADDING IS COPED, SNAPPED ONTO EACH MEMBER AND THEN SEALED AT THE BUTTED SEAM WITH AN ACRYLIC/URETHANE SEALANT. 3= 3
HEAD JAMB; WOOD MEMBERS ARE COPED, BUTTED TOGETHER, MECHANICALLY FASTENED USING THREE (3) #8 X 2 1/2” FH SCREWS HORIZONTALLY AND = PR N
ONE (1) #6 X 1 1/2” PH SCREW VERTICALLY (A SILCONE SEALANT IS APPLIED TO SEAM PRIOR TO JOINING), AND SEALED WITH TREMSIL 600 Bl NN
ON METAL CLAD COMPONENTS AND DYMONIC FC ON WOOD COMPONENTS. “= &
SILL JAMB: WOOD MEMBERS ARE COPED, BUTTED TOGETHER, MECHANICALLY FASTENED USING THREE (3) #8 X 2 1/2" FH SCREWS AND ONE ( = e
» 1) #6 X S
{ 1/2" PH SCREW HORIZONTALLY & ONE (1) #6 X 1 1/2" PH SCREW VERTICALLY, AND ~SEALED WITH TREMSIL 600 ON METAL CLAD L
COMPONENTS AND DYMONIC FC ON WOOD COMPONENETS. Dng§1N°' REV.
JAMB CLADDING; THE JAMB CLADDING IS MITERED, BUTTED TOGETHER & MECHANICALLY FASTENED USING ONE(1) #6 X 1 1/2” SMS PER CORNER. SEA
, . LANT
IS APPLIED TO SEAM BEFORE JOINING. NOTE THAT AT THE SILL, THE JAMB CLAD BUTTS AGAINST THE SILL/CLAD. QSHEELFNO' 7




SEE CORNER
CONSTRUCTION
ON SHEET 2

49 3/16" MAX.

FRAME WIDTH (F.W.)

(ATYAY
4AL/

94 1/2" MAX. FRAME WIDTH (F.W.)

194" MAX. OVERALL FRAME WIDTH WITH WOOD REINFORCED MULLIONS & 192" MAX. WITH STEEL REINFORCED MULLIONS

49 3/16" MAX.

48

(BTYB2
4 N4/

FRAME WIDTH (F.W.)

(BTYB2Y
+ AL/

CHEC!

W.W.S,

KED ar:

DATE:

3/15/05

DATE

BY

REVISION DESCRIPTION

NO.

(SHEAR SCREW MOUNT CONDITION SHOWN. SEE ELEVATIONS ON SHEET 2 FOR FIN MOUNT CONDITIONS.)

T

EXTERIOR ELEVATION

gy

N \\
Y { / //, FOR FRAME ANCHORS {
7/ FRAME SHEAR SCREWS 7/ & THERIR SPACING,
PER FRAME ANCHOR FOR FRAME ANCHORS SEE ELEVATIONS ON
REQUIREMENTS TABLE ON & THER SPACINGS. SHEETS 1 & 2
SHEET 1. (3 EACH SIDE SEE ELEVATIONS ON
OF MULLION WHEN SHEETS 1 & 2
OPPOSITE REQUIRED DESIGN ‘
L4 VA PRESSURE IS GREATER /D) JAA (ED
- & 4 5 <7 THAN 59 PSF; 2 EACH \BJ 6 v S
N N SIDE WHEN REQUIRED
_ . DESIGN PRESSURE IS 59
z PSF OR LESS ‘
" (TYP. AT HEAD & SILL)
L
=
<C
o d
: O X O O
% STEEL BAR OR
= 1" WOOD MULLION
2 4
) (REF.) A
S q - = SteEL oA oR— |
1" WOOD MULLION
(REF.)
N q q 4

MUI TIPLE OPERATING/FIXED SLIDING DOOR

SCALE: 1/2°=1" 0"

(DOUBLE PANEL SLIDER WITH SIDE LIGHTS SHOWN. TWO DOUBLE PANEL
SLIDERS MULLED TOGETHER IN ONE OPENING IS ALSO APPLICABLE)

o~
o @
S -
N~
o
6N
Ex o
nl 2ads
el & 23
Q| ZhZ |
Q WriiSo
ol =z g
b . m
4 N
Z ELr)Ed-
al 9 &
- 4=
o e
aa’ g
= e O =z
~Z
LI ~E
o |5 »
P
2
a |Z
o =
(@)
,.)
-
2l E Fes
') H : 0BT
z‘t. w =
= 60‘ E_J‘“
D Z .(I)LI-..
z | WwQ ;ﬂg?.
S IZ i
= F2«
po E_J %9
— :)EQ,,.
<l ¥LE5)
4 |58 285
= Qo0 ;o)
z W z
N EF
= n © =
: 52 @
= o= T
i
[ a
= ;
Zj=y ]
= <<
< 3 I
Q Qg
Cie= . z
Ol <
= .
[n'd
<€
=
DRAWING NO. | REV-
SHEET NO.
3 o 7




DRAWN BY: CHECKED 8Y:
FRAME ANCHORS MIN. 2X4 BUCK/FRAMING & FRAME ANCHORS MIN. 2X4 BUCK/FRAMING & FIN ANCHOR PER MIN. 2X4 BUCK/FRAMING & s |_wes
PER ELEVATIONS \ / BUCK ATTACHMENT BY OTHERS BER ELEVAT,ONS\ / BUCK ATTACHMENT BY OTHERS ELEVATIONS \ o / BUCK ATTACHMENT BY OTHERS 2 M0
. - S SRS (LIS AT I CONTINUOUS —~ (3D~ 4 /- . 5
) ) BOSTIK )
@ 1/4" MAX. . 1/4" MAX. CHEM—CAULK 1/4" MAX. _ N
SHIM AT — @\ CSHIM AT = 915 SEALANT SPACE &
@’\ EACH ANCHOR @\ /' EACH ANCHOR
e ———
- . NS — N7 J = = z
- . Ayl <0 3
Lol B 8 — ] -k
 — | M (1)
TS 7 Np &/ /] [ = ;
., A1 B = g
: = z
E © I
53 CONTINUOUS T S
58 SEALANT BEHIND w
FIN BY OTHERS =
./ . \& i 2
@ @ ' 859
N
— PRI
1 N g
1 gé((ﬂ
apahs
EXTERIOR ( | g| E-23
o L O ©
G e
: o) YW m
)y ~ ! EXTERIOR ~ SEE ! ~ SEE "GLAZING of EB=3
"GLAZING T 7 "GLAZING = SECTION /77 DETALTON Z| Sz
DETAL"ON DETAIL"ON W ; SHEET 6 S &
( SHEET & ( SHEET 6 = SCALE: 1/2 FULL \ 4/ Al 23
= = (FOR SILL SECTION & DETAILS NOT SHOWN SEE SECTION A1/4) | ~ | ©n2
\ o \ L FIN FASTENER MIN. 2X4 BUCK/FRAMING & -3 -
L L PER ELEVATION‘S\, o / BUCK ATTACHMENT BY OTHERS || = |2
<§E <§( PN ,A.‘:. R i 14,‘.::‘_'.._:," .7:.A_.'._‘. L A %
o [0 o=
i /@ i CONTINUOUS @—\ 8
. BOSTIK - ) =] 2
I)E CHEM--CAULK ( 1/47 MAX. al 2 .1
A A 915 SEALANT SPACE —1 S & 93F
N @ y @ S SE = | 3t
| — z | we ggé
;\> / © @_\ S | T S| «ZEE5,
\ L 2 W, %o
, I ~ 2| Gz £°%
@ R Tl 2 225
A o - (4N ] =T
] —© 1 5 [F [ER%=is
T = 3 0 Jin
SEALANT H \‘ CONTINUOUS T =L F
- " EXTERIOR €0 " cpaant BEHND = |2 573
BY OTHERS A = |3 ©
FIN BY OTHERS = |8 = =
68 (26 <oy x
55 3 e e ' N | ¥
g\ 1/4" MAX. g 9 1/4" MAX. ) | ' ®
) SHIM AT T SHIM AT PN ke £
- _ ] EACH _ @ EACH . =E\ S
—5- l ANCHOR T ANCHOR ( of A\ 99
= AN »
1.4 \ i
[T9] . > B
SEALANT A / &l e
BY OTHERS SEE _ = S
GLAZING  ~=
SUBSTRATE SILL ANCHORS SUBSTRATE SILL ANCHORS DETAL"ON  SECTION /B2 BRAWING No- TREV.
BY OTHERS SECTION /AT  PER. ELEVATIONS BY OTHERS SECTION g\  PER ELEVATIONS SHEET 6 SCALE: 1/2 FULL \ 4/ ~ 1381
SCALE: 1/2 FULL \ 4/ SCALE: 1/2 FULL \ 4/ (FOR SILL SECTION & DETAILS SrEeT Mo
' NOT SHOWN SEE SECTION B1,/4) 4 o 7




SECTION I
SCALE: 1/2 FULL \&/

CHECKED BY:
LA AR

DRAWN BY:
KPS,

1/4" MAX. 1/4" MAX.
SHIM AT — |=~—FRAME WIDTH (FW.)—» —~——FRAME WIDTH (FW.)—={ |~  SHIM AT
EACH ANCHOR 3 63 EACH ANCHOR
FRAME ANCHORS SEE "GLAZING FRAME ANCHORS
PER ELEVATIONS DETAIL” ON /—@ / PER ELEVATIONS
SHEET 6 58
N AR / AN
. . N
: o ( ) ® ® [
4
SANLA
) ( 0 \ 7. / 7 j‘g SEE "GLAZING @ -
. { - i3 DETAIL” ON = .
ﬁJ“ [EXTERIOR] o s
. EXTERIOR S \/// ~ SHEET 6 N S
‘ :g | /S N 0 "\
;'.: / H 33 l : J // /( \ XX):( '
/ & : |, ’ ; AN
v BUCK /FRAMING
MIN. 2X4 % C_ 1 /X I o Bk
BUCK/FRAMING 59 / ~ ATTACHMENT
& BUCK &~ EXTERIOR]  (f) BY OTHERS
ATTACHMENT
BY OTHERS SECTION /Y SECTION M
SCALE: 1/2 FULL \&J SCALE: 1/2 FULL \5/
SECTION /&0
SCALE: 1/2 FULL \5/
1/4" MAX,
— F W) ——
i |~ FRAME WIDTH (F.W.)
MIN. 2X4 BUCK/FRAMING & 7—‘ .
E/BUCK ATTACHMENT BY OTHERS ) E \ R i
—~ SEE ~—FRAME WIDTH (FW.)—] | 1/4" MAX. /2" X 1" CQRRUGATED\Q\ SHEET 6
- % "GLAZING SPACE FASTENERS 4" OFF ENDS
y SHEET 6 BUCK /FRAMING 2%\ e ~
y ( \ & BUCK ) . N
ATTACHMENT 1/4" X 3 1/4 -y POLYURETHANE \
ff ) .+ BY OTHERS CONT. A36 STEEL STk | SEALANT (
] \ / BAR (ROUTE OUT PN ,
. N ®\ 7 WOOD FOR BAR b~ \;
X - FIN BY OTHERS 0 J /] L=N-MAY OPTION TO USE [EXTERIOR
.. /Ejgp/\\ 62) . POLYURETHANE _\/ NO. 10 X 1" SCREWS
ﬂ . SEALANT 6" FROM ENDS &
69 SEE 'GLAZING (60 = ) MAX. 16" 0.C. EACH
\\ DETAIL™ ON b OO0 SIDE IN LIEU OF
FIN ANCHORS RO SHEET 6 \ 4 L CORRUGATED
PER ELEVATIONS el / ™ J FASTENERS
. el
CONTINUOUS L’L/@ ( ) ) EXTERIOR
BOSTIK SILICONE SEALANT
CHEM—CAULK N APPLIED PRIOR TO Flosida
915 SEALANT  SECTION /T2 L3 FIN ANCHORS MILLION COVER
SCALE: 1/2 FULL \5/ PER ELEVATIONS '
EXTERIOR ‘_/ @/ 23 SECTION Y
FOR DETAILS NOT SHOWN SEE SECTION C1/5 i
( /9) (19 2) \-SEALANT BY SCALE: 1/2 FULL \5./
OTHERS SHOWN WITH STEEL BAR REINFORCEMENT. SEE

SECTION G/6 FOR WOOD REINFORCEMENT DETAILS
(SEE OTHER SECTIONS FOR DETAILS NOT SHOWN)

DATE:
t=2 3/15/05

DATE

By

REVISION DESCRIPTION

NO.

C.P. LOEWEN ENTERPRISES
204-326-6446

77 PT.H 52 WEST, BOX 2260
STEINBACH, MB  CANADA R5G 1B2

MANUFACTURER

ALUMINUM CLAD WOOD IMPACT SLIDING DOORS

& CONSULTING, P.A.

W. W. SCHAEFER ENGINEERING
8895 N. MILITARY TRAIL SUTE C-204
PALM BEACH GARDENS, FL 33410
PHONE: 561—775-4902 FAX: 561-775-4903

DRAWING TITLE
CONSULTANTS

N W. SCHAEFER, P.E.
P.E. NO. 44135

DRAWING NO.

1381

REV.

SHEET NO.

5 o 7




DRAWN BY: CHECKED BY:
" ” » KPS. WAS.
1/2" X 1" CORRUGATED 5276 ————-{ 5 136" 2 1/8" ] 3.740" ——— T, [oRE
MULLION SEAM COVER (69 FASTENERS 4" OFF ENDS ol - 315705
AS REQUIRED \ & 6" MAX. 0.C. I F_J g "
/ z
@\E il ﬂ/@ (D) HEAD yaMB 748"~ S
@\ ! ] /@ F‘&zm"—-[ F . I 5
- &
| ]711 751 . l (6) FIXED DOOR STILE |2
H——J ” Lé‘
NO. 12 X 1 3/4” FH WOOD [ 0 L 1" %6 1/2 conT @ SIDE JAMB 0.748 37400 ——— |
SCREWS WITHIN 4" OF ENDS ‘/_\1 DOUGLAS FIR WOOD 2165 7.283" w { s
; —— 2.165" —= : 7.224 2
AND MAX. 16" 0.C. = L REINFORCEMENT _ E g
i j‘ g LT \ S
SEE 2.165
g "GLAZING
- ( DETAIL" ON 0 5 o
<COOOO0000) XL SIS THIS SHEET o
[{o]
| 3.740" (7) OPERATING DOOR B9
LOCK_STILE Ex®
) oxrm <
EXTERIOR [EXTERIOR] | - 3.740" ol & ,_-g S
lid gn<|
Y || Q goy
=z
% - (4)BOTTOM RAIL BOTTOM_RAIL 2 gwg"f
: 0=«
SILICONE SEALANT @ TOP RAIL (OPERATING DOOR) (FIXED DOOR) 2.165" 2| 3=:%
APPLIED PRIOR TO SECTION ; , { al =9
MILLION COVER : £ 5.708 ! » al o3
SCALE: 1/2 FULL \ 6/ f 2.205 | E a| 3.2
SHOWN WITH WOOD REINFORCEMENT. SEE SECTION ,l_’f—/’ju \ \ Lo 5l T&
F/5 FOR STEEL BAR REINFORCEMENT DETAILS E/ 1.260 (:I F_J0-531 OPERATING DOOR IE ©
Q
(SEE OTHER SECTIONS FOR DETAILS NOT SHOWN) DOW CORNING 995 - — — } . FIXED SASH f INTERLOCK_STILE = 5
STRUCTURAL SILICONE @ TOP EYTEN Q [z
oIz
(ALL 3 SIDES) SILL | . TOP EXTENSION | F——0472 0354 S ~
sl o o B T L T+ —CONTINUOUS - 0.669 *leo 8§
e e AP T » z « 3
N RN - A ;-:".'/WOOD MEMBER . . ] 1.5/8 & §af
S G S . L R e 9/16" LAMINATED GLASS ) } ,.J al 8, dsn
i % THAN A 2X_ (SEE OPTIONS BELOW) 087" 0.669 0 087" 0.669" 0.670 ., } Z e g
==zl BUCK TO BE 1/4" X 1/8" GLaZING | ] ' (14) SECURITY o S| 8o lue
s & MIN. 3 1/2 TAPE CONTINUOUS (15 HEAD JAMB | £ 2 #°
‘ DEEP. NOT RAIL x B8,
EACH SIDE MOLDING ] nid . Zo
REQUIRED WHEN @ STILE STOP 2| B3 E%e
cil | 1/47 OR LESS 3 (D I0P RAL  (1p)siL stop Y20 | —oserr || £2 S
“Tio | SHIM SPACE Z STOP - - = |53 Csl
) EXISTS (USE 1/2" ] 63 I —f 1.358" |~ b |E g 238
SHIMS AT EACH MIN. BITE ‘i 1.142" fv § 2> %"%
NCHOR ONLY . 1 N &
ANCHOR ONL ) EXTERIOR 1/8" SHIM 12" FROM _L f 074" 5 ]S= &
3/16" CONCR. SCREW A CORNERS 2 PER SIDE 0.669" ] AZING BEAD & o
70 REPLACE ALL FRAME —[ L \ GLAZING BEAD & «
SCREWS SHOWN IN CTa% Loz 1 087 osss 1O FIXED PANEL STOP 2= &8
EXTERIOR : 8 e
ELEVATIONS. 006@0@ SILL COVER @SILL BLOCK £ w3
' Sl W\ |Zs
TYPICAL GLAZING DETAIL Appmmssmmmu SN (|
» - , w
GLASS OPTION 1: 9/16" SENTRY GLASS PLUS 4331 ———~ Ol N
LAMINATED GLASS | { = E\
(1/4" AN/0.09” SGP/1/4" AN) q _f j -
OPTIONAL _DIRECT MOUNT DETAIL GLASS OPTION 2: 9/16" SEASTORM "B" LAMINATED GLASS 0.059 f [ DRAWING WO [REV.
FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS (1/4" AN./0.015" PVB,/0.007 0.4417 1381
(HEAD SECTION SHOWN, SIDE AND SILL SIMILAR) PET/0.075" PVB/1/4" AN.) ¢ > FIXED PANEL, LOCK STILE SHEET NO.
CLADDING & TOP RAIL CLAD 6 o 7




CHECKED BY:

BILL OF MATERIALS ] el
1.849 PLOT: ATE:
TEM # TEM DESCRIPTION MANUFACTURER/NOTES meM 4] ITEM DESCRIPTION MANUFACTURER /NOTES | - 3/15/05
- PARTS FASTENERS f
1 |HEAD JAMB * WOOD 5t |#8 X 2 1/2" FH SCREW WITHIN 8" FROM CORNERS & 12" 0.C. ; 0.055" |2
2__|SIDE_JAMB * WOOD 52__|#10 X 2 1/2" FH_SCREW WITHIN 1" FROM_CORNERS & 12" O.C. 2.224 1 331 " : 3
3 [TOP RAL * WO0D 53 |#6 x 1 1/4" FH_SCREW 4_PER_SECURITY RAIL
4__|BOTTOM RAIL (OPERATING DOOR) * W00D 54_|#8 X 1 _1/2" FH SCREW WITHIN 3" FROM _CORNERS & 18" O.C. 0.059” 5
5 |BOTTOM RAIL (FIXED DOQR) * WOo0oD 55 |#8 X 1 1/4" FH SCREW WITHIN 4" FROM CORNERS & 10" O.C. . r 1-4_7
6 |FIXED DOOR STILE * W00D 56 |48 X 1 1/4" FH_SCREW 2 PER ROLLER f @ SIDE AND
7 | OPERATING DOOR LOCK STILE * WOOD 57_|#6 X _3/4” PH _SCREW WITHIN 1" FROM CORNERS & 8 0.C. HEAD JAMB 3
8 |OPERATING DOOR INTERLOCK STILE * WOOD 58 [#6 X 1" TRUSS HEAD SCREW WITHIN 1_1/2" FROM CORNERS & 8 0.C. 4.389" ACLAD JAMB &
9 [siL ‘ * WO0D 50 |4 X _1/2" FR_SCREW WITHIN 1/2” FROM_CORNERS & & 0.C. ' CLADDING &
10 |FIXED SASH TOP_EXTENSION * WO0D 60 |#8 X 5/8" PH_SCREW WITHIN 1 _1/2” FROM_CORNERS & 12" O.C. E— i
11_|TOP RAIL STOP + WOOD 611 1/4" FINISH NAIL WITHIN 3 1/2” FROM_CORNERS & 8" 0O.C. @ FIXED PANEL INTERLOCK z
12 [SILL sToP * WO0D 62__ |1 _1/4" FINISH NAILL WITHIN 2" FROM CORNERS & 8" 0.C. . 3
13_|STILE_STOP * WOOD 63 [1” FINISH NAIL WITHIN 3" FROM_CORNERS & 6 0.C. STILE CLADDING 2 853 &
14 |SECURITY RAIL * W0OD 64 [5/8" FINISH NAIL WITHIN 1" FROM_CORNERS & 12" 0.C. Y 0. 055
15 |HEAD JAMB_MOLDING * WooD 65 |3/4" FINISH_NAIL WITHIN 1~ FROM_CORNERS & 12" O.C. ———— 3.504 3
16 |SILL COVER * WOOD 66 [3/4" FINISH NAIL WITHIN 3" FROM_CORNERS & 8 0.C. ! .
17 [SILL BLOCK * WOOD 67 [3/4" FINISH NALL WITHIN 2" FROM CORNERS & 8" O.C. ‘WT O 059 1 331 "
18 |GLAZING BEAD & FIXED PANEL STOP * WOOD 68 [5/8" FINISH NAL WITHIN 2" FROM _CORNERS & 12 O.C. = 1 N
19 [FIXED PANEL, LOCK STILE & TOP RAIL CLAD _ |6063-T5 ALUMINUM 69 [1/4" STAPLE WITHIN 1~ FROM CORNERS & 8" 0.C. f_ . o
20 |BOTTOM RAIL CLADDING 6063-T5_ALUMINUM 70 [F12 X 3 1/2" FH SCREW 2”& 6" FROM CORNERS OF PANELS & & 0.470 nS
21 |FIXED PANEL INTERLOCK STILE_CLADDING 6063-T5 ALUMINUM MAX 0.C (AT SILL & HEAD) @ A ENES
22 |ACTIVE PANEL INTERLOCK STILE CLADDING 6063-T5 ALUMINUM 71_|§4 X_1/2" FH_SCREW 2 PER BRACKET M @ SIDE_AND HEAD g
23| SIDE_AND HEAD JAMB CLADDING 6063—T5 ALUMINUM 72_|#8 X _3/4" FH_SCREW 10_PER BRACKET INTERLOCK STILE JAMB CLADDING 23 <o
24 |ALT. SIDE AND HEAD JAMB CLADDING 6063-T5 ALUMINUM , " » w2y
25 |SILL CLADDING 6063-T5 ALUMINUM l 7874 | 1.321 CLADDING (ALTERNATE) gl 220
26 | SILL THERMAL BREAK PVC , ' R . ., 2 626" ol Yide
27__[SILL THROUGH COVER PVC i | 0.541" — 0.532" 4. Q Z= =
28 |HEAD JAMB THERMAL BREAK SPARTECH PROFILES NO. R—2474 ﬂ: v M _f d f{;\g . : _; =3 24
29 |HEAD JAMB CONNECTOR 6063—T5 ALUMINUM 0.089" 1.102" S ol 8.°.2
30| FIXED SASH EXTENSION 6063-T5 ALUMINUM f ., 0.882" j[_, i g Tz
31 |NAILING FIN STEEL (fy = 50 ksi MIN.) 0.451 BOTTOM RAIL CLADDING 0.944" - } T — 0.051 il
32 |SIDE JAMB THERMAL BREAK SPARTECH PROFILES NO, R-2475 | 043’ @ SILL ! al 5.2
33 |MEETING STILE INTERLOCKER ALL-ROVING POLYURETHANE MATRIX FIBERGLASS ., N
T 5327 — A{ BROUGH  —y— (29 HEAD AND SIOE | 55 £ e
35 | STANDARD MULLION CUP 6063-T5 ALUMINUM | I ,, JAMB a 2
361" MULLION CUP. - 606315 ALUMINUM 1 ) COVER . 0.531 CONNECTOR =2
SEALS & SEALANTS 1.641 0.089” HEAD JAMB _ N E
37 _[SASH T-SLOT WITH —LON WEATHERSEAL SPARTECH PROFILES NO. R-2473 PLUS QEZ-376 0.059” e o IE
38 | WEATHER SEAL Q—LON_NO. SSI-C300X10 o ' " THERMAL BREAK o) =
39 [WEATHER SEAL Q-LON_SSI-C200X190 0.958 SILL THERMAL 1.601 = <) S
40 |COMPRESSION SEAL . INTEK PLASTICS @ Q N L » » (=) - P
41 |SWEEP... SCHLEGGEL 80041 SILL CLADDING BREAK —7:_ i H 0.649 0.728 0.482 S| 5 ) ;f;;:
42_|SCHLFGEL HOLDER # R—441 49548 THOMPSON_PLASTICS LTD. — T ol © '5;2_. we e
o HARDWARE s| a2 5.%
+3_TDOR HANDLE - HOPE MEETING STILE 1181 197" J o pear S| 2o hus
44 _|PATIO DOOR ROLLERSS TRUTH_HARDWARE KE 0.039 Z =z 32"
45 _|SILL TRACK CAP i ™ CAN—~SPACE MFG. INTERLOCKER & STANDARD 2| g5 TEy
46 |PATIO DOOR LOCK HOPPE SIANUARD 2| 532839
47 |KEEPER HOPPE L L MULLION CLIP <z ke
48 |MEETING STILE END REINFORCEMENT 304 STAINLESS STEEL ° o ® o ° ' SILL TRACK 4 |eo8 zEn
= 01
* WOOD USED WITH TEST UNITS WAS GRADE 2 NORTHERN DOUGLAS FIR. - Z guf;a .néu"%
ALTERNATE WOOD SPECIES TO BE APPLICABLE WITH THESE WINDOWS IS 3.800” ¢ o 9 O b s |2® BTy
z . S
MIN. GRADE 2 MAHOGANY, OAK, CHERRY, MAPLE & CYPRESS. T~ 00.381" THRU 1.482" 2 R
NOTE: AL WOOD IS RECEIVED BY LOEWEN WINDOWS AS GRADE 2, BUT IS . o o o + 6 PLCS. | . _
MACHINED BY LOEWEN TO A S T GRA e o
E ELECT GRADE USE. \ S04 75" THRU T 2 % ) i
| 10 PLCS. 0.197" 0.039" zl &£ i
0.536" »’ t— T 541,, ~— 4.200" —{= 3.600" — = 23
” .
— - 0020 | 1” MULLION CLIP ) RN
1.378” 1 45711 ] g Eé e "\ : .
1.340 0.051" | %F‘ 0.728” N PN T As::»revedw ."’“‘“ Sl = =2
| b} \ ~_ #0.127” THRU 1 : = g
" 1 88 231 @ — <C
0.807" ] M 2 PLCS. | £
SIDE JAMB = - — 0 . DRAWING NO. [REV.
(30)EIXED SASH  (37) NAIL_FIN & f | 12.000 [— 4191 — LT
EXTENSION —_— THERMAL BREAK
SHEET NO.
MEETING STILE END REINFORCEMENT 7 o 7




